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A woman is a carrier of hemophilia, an X-linked disorder. Consider the following questions:
1. What is the probability for her havingason? (a)1 (b)0.5 (c)0.25 (d) 0.
2. What is the probability for her having an affected child? (@1 ()05 (c)0.25 (d)o.

In tomatoes, red fruit color (R) is dominant to yellow (Y). Suppose a tomato plant homozygous for red is

crossed with one homozyous for yelloew. Determine the appearance of the followings:

3. The F1 (a)allred (b) all yellow (c)3redand 1 yellow (d) 1/2 red and 1/2 yellow.

4.The F2 (a) allred (b) all yellow (c) 3 red and 1 yellow (d) 1/2 red and 1/2 yellow.

5. The offspring of a cross of the F1 back to the red parent (a) allred  (b) all yellow (c) 3 red and 1 yellow
(d) 1/2 red and 1/2 yellow.

6. The offspring of a cross of the F1 back to the yellow parent (a) all red (b) all yellow (c) 3 red and 1
yellow (d) 1/2 red and 1/2 yellow.

In a population study, 10000 individuals were typed for the MN locus, an autosomal recessive trait. There
are 6400 MM individuals in the population. Consider the following questions:
7. What is the allele frequency for the N alleles? @1 (0)0.8 (c)0.2 (d)0.04.

8. What are the expected numbers of NN individuals in the population? (a) 3600 (b) 5000 (c) 3200 (d)
400.

The F1 from a cross of AB/AB x ab/ab is test-crossed, resulting in the following phenotypic rations:

AB 308
Ab 190
Ab 292
AB 210

9. What is the frequency of recombination between genesaand b? (a)0.8 (b)0.6 (c)0.4 (d)0.67.

If a given population of diploid organisms contains three, and only three alleles of a particular gene (i.e.,
alleles 1, 2, and 3),

10. How many different génotypes are possible in the population? (a) 3 (b)2 (c)8 (d) 6.

In human the three alleles /%, /%, and i constitute a multiple allelic series that determine the ABO blood group

system. A woman of blood group AB marries a man of blood group A whose father was group O. Consider

the following questions:

11. What is the probability that their two children will be group A? (a) 0 (b) 1/4 (c)1/8 (d) 1/64.

12. What is the probability that one child will be group B and the other group O? (a) 0 (b) 1/4 (c) 1/8 (d)
1/64.

13. What is the probability that the first child will be a son of group AB and their second child a son of
group B? (a) 0 (b) 1/4 (c) 1/8 (d) 1/64.
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1. F @474 hormone ;& § » & &% #A(steroid) hormone?
() M4 7B F FE M F (GnRH) (b) 12iE 78 A% Btk E(FSH)
(¢) =T ## 4 (cortisol) (d) ¥ KAk # (thyroid hormone)

2. RGBT T IR —FRM ?
(a) insulin 42 ¥ 4= B 4] B glucose
(b) glucagon 12 it BT B, i 47 glyco genolysis
(¢) insulin 42 i# A5 A% 4= B 19 lipolysis
(d) insulin 42 i AT B # 17 gluconeo genesis

3. A e W RRARAERMTREE 4 F A — 4 hormone ?
(a) CRH (b) TRH (c) GHRH (d) GnRH

4. F 5% WA 5104 K (prostaglandin) &9 &k T4 TR, Eaf 0
() il mMnB X QEABREBYE
(b) #EHEIF R R AR
(c) Prostaglandin $2 £ % &4 Wi 45 2 47 3% & B
m)ma@ﬁ@wMMWu%ﬁE%%E%EQMﬂmmmmmmﬂ%ﬁ

5. AMO2 e b 68t FolTH TR, Eaf 0
(@) RAREER o Ethis
(L)DPGRETHTRAS Lir kR bL LA LRH
©) MBRRMEREW > THBEELA b FRBBLO LB,
(d) BESEATERA DL FRBEGRALEHH

6. THAME ARG » 175 TR,y Esk?
(@ FLRUEE»LTHER  FyRNAE "I R R A _
O) FLMRERETAZR dsbmm YIS #.3% /& (zona glomerulosa) - #5 # /& (zona fasciculata)
LA B 483k /& (zona reticuléris)
(c) #: 3R 93k #h hormone 4 BH# B MR 1240 ~ 47e888
(d) rroriskeh B % (androgen) & 4354142569 € 2 hormone

7. FHAMPHA » I — AR Lo 9
(a) HAKRPENPRE a0 B KRB0
() FAEMLI L NEME A #38ho— @9
(©) FHEMEPRA AL ETRABILEL T
(d) PR B BT RS> HEEL OB F

8. o+ REFME |om RHA A » RIS AR R o) 845 7
(a) 4 4% (b) 16 1% (c) 1/4 4= (d) 1/16 4= ‘

9. B BERT  BATHRZERGRE
()M EBk (O LE () MEIK  (d)IEHK
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ARG EN LB E 0 AT FRIAE A48 20 & R B A 80m] o W Rabey s

BAEH ,
(a)0.25 liter/min  (b)0.6 liter/min (c)1.6 liter/min (d)2.4 liter/min

H W% 48 7t (neuron) &9 4 it » 4% E5g 9

(a) tmpaft(cellbody) &k B ITOREEE » T Libtaihh X%
(b) # R(dendrites): £ & Fi ¥ R B L it ahin &

(c) #h% (axon)id@ ¥ 1R4a M B K H Sk

(d) %t & (synapse)if % 45 #t % Fo b 48 4m i B A8 38 42 64 2042

H M REIEH 0 F P AT 2R 9
(2) CO, ¥ i o9& = &% 5 A 26 Hr 4k 3% % % (pulmonary stretch receptors)
(b) O, i oF R £ £ % %38 B 4 1L % 4% % & (peripheral chemoreceptors)
(C) ik P HAETF 69 BRI+ RIAE
(d) Pieft# 4% % (central chemoreceptors )4 # # A% (pons)

T HATE R R B K AR R BT ?
(a) Vitamin K
{(b) Aspirin
(c) Thrombin
(d) Heparin

fr i3 bR o R G HLR A — 48
(a) phosphlipid  (b) carbonhydrate (c) glycoprotein (d) cholesterol

. Fatty acid & A3 » — 3k 49 Flb BB &% 00 F 485 2

@l ®2 (@©3 (@4

F 3448 £ Ho-anani tin # F a9 305 KSR ?
(a) DNA polymerase 1 (b) RNA polymerase I (c) RNA polymerase 11
(d) RNA polymerase III '

A M citric acid cycle #94kik » T E#E 7
(a) EA—FHATP  (b) }348— 2 F ) oxaloacetate
(c) AA—4FeyC02 () 33— 5 F# glucose

RELE(ER2 D)
1. Back-mutation

2. FISH

3. Ribozymes

4. Nucleosome
5. RNA-interference (RNAI)
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